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Correct Marks: 4 WrongMarks: 1

A copper wire is stretched to make it (.5%
longer. The percentage change in its
electrical resistance if its volume remains
unchanged is:

Options:
41652939642, 0.5 %



41652939643, 1.0 %

25 9%
4155259233644, 2.5 %

41652939845, 2.0 %
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Options:

41652939642, 0.5 %

41652939643, 1.0 %

25 9%
41552939644, 2.5 %

41652939845, 20 %
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A particle is moving with a velocity

— A, ey
v =K(yi +xj), where K is a constant.

The general equation for its path is :

Options:
5
41652939648, }J'Z—J. + constant
B _
41652939647 Y =X *constant

41652939648, lfz:l"'“ﬂﬂﬂﬁtant

41652939649, XY = constant
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Options:

9 2. f ;
==X +fﬂﬂﬁffﬁ
415852939645, Y

— 12 + i
41652939647, ¥=x°+

s ,
41652939648, y?=x+

41652939649, Y= i
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A block of mass 10 kg is kept on a rough
inclined plane as shown in the figure. A
force of 3 N is applied on the block. The
coefficient of static fricion between the
plane and the block is 0.6. What should be
the minimum value of force P, such that the
block doesnot move downward ?

(take g=10 ms~2)

Options:

41652939650,
41652939651, 92 N
41652939652, 23 N

41652939653, 18 N
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416529339650 BN

41652939651, 92 N

41652939652, 23 N

41652939653, 18 N
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Correct Marks: 4 WrongMarks: 1
Three blocks A, B and C are lying on a
smooth horizontal surface, as shown in the
figure. A and B have equal masses, m while
C has mass M. Block A is given an inital
speed v towards B due to which it collides
with B perfectly inelastically. The
combined mass collides with C, also

5
perfectly inelastically gth of the initial

kinetic energy is lost in whole process.
Whatis value of M/m ?

A B C
m]  [m]  [M]
Options:
41652939654, 3

416525933655, 4



41652939656, 2

41652939657, 2
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41652939654, 2

416525939655, 4

41652939656, 2
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Correct Marks: 4 Wrong Marks: 1
An L-shaped object, made of thin rods of
uniform mass density, is suspended with a
string as shown in figure. If AB=BC, and
the angle made by AB with downward
vertical is 0, then :




Options:

1
tanfl = ;
41 552939E58, 3=
1
tantfl = E
41552939559, :
2
tanll = :Fz
4152939660, 3
1
tanll =
2.3
41552939561 .
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Options:
1
tanfi = ;
41852939658, -
1
tanfl = E—
41852939659, ;
2
tanfl = :F=
41EE29=29E8E0, 3
1
tanll =
23

416525923661,
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A block of mass m, lying on a smooth
horizontal surface, is attached to a spring
(of negligible mass) of spring constant k.
The other end of the spring is fixed, as
shown in the figure. The block is initally at
rest in its equilibrium position. If now the
block is pulled with a constant force F, the
maximum speed of the block is :
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If the angular momentum of a planet of
mass m, moving around the Sun in a
circular orbit is L, about the center of the
Sun, its areal velocity is :

Options:
L

41652939665,

21,

41652939667, M

L

j
41652939668, <M

4L
41652939659, M
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21,

41652939667, M
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A rod, of length L at room temperature and
uniform area of cross section A, is made of
a metal having coefficient of linear
expansion a/°C. It is observed that an
external compressive force F, is applied on
each of its ends, prevents any change in the
length of the rod, when its temperature
rises by AT K. Young's modulus, Y, for this
metal is :

Options:
F
Aa(AT — 273)

41852939670,

41652939671, AaAT

2AaAT
41852939672,

?F

AaAT
41852939673,
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I'.‘
Aa(AT — 273)

4165259239670,

41652939671, AaAT

R
2A AT
41552939572,
2F
AaAT
41552939573,
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Temperature difference of 120°C is

maintained between two ends of a uniform
rod AB of length 2L. Another bent rod PQ,

of same cross-sectionas AB and length T y
is connected across AB (See figure). In
steady state, temperature difference

between P and Q will be close to :
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Options:
41652939874, 60 °C

41652939875, /9 C

41652939676, 30 C

¥ L]
416525939677, H°C
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Options:

41652939674, 60 °C

41652939875, /0 C

41652939676, 30 C

AE 9
41652939677, 5
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A gas can be taken from A to B via two
different processes ACB and ADB.

I} .
i B

A [

>V

When path ACB is used 60 | of heat flows
into the system and 30 | of work is done by
the system. If path ADB is used work done
by the system is 10 ]. The heat Flow into
the system in path ADB is :

Options:

41652939675, 100]

41852939679, 20]



416525933680, 80]

416525939681, 40]
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41652930675, 100]

416525933673, 20]

41652930650, S0

415523933651, 40]
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A mixture of 2 moles of helium gas (atomic
mass =4 u), and 1 mole of argon gas (atomic
mass = 40u) is kept at 300 K in a container.
The ratio of their rms speeds

Vs (helium
II":rr:nl; {a I'ﬂ“n]

S
‘, isclose to :

Options:

415523933652, 032

4155259233683, 0.45



4165259233654, 224

4165259233685, 316
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416525939682, 032

41E852939685. 045

416525939654, 224

4165259239685, 316
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m
Two masses m and - are connected at the

two ends of a massless rigid rod of length
[. The rod is suspended by a thin wire of
torsional constant k at the centre of mass of
the rod-mass system(see figure). Because
of torsional constant k, the restoring torque
is T=k# for angular displacement 6. If the
rod is rotated by B, and released, the tension
in it when it passes through its mean
position will be :

o

—f —

e 1 "gm
m/2

Options:



k6>
41652939686, 2

. 2
}('H,[}"
41652939687, |

41652939688, |

41652939689, |
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Options:
k6>
41652939656, 2

k6>

41652939637, |

2k,
41652939688, |




k0,
41652039689, |
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A heavy ball of mass M is suspended from
the ceiling of a car by a light string of mass
m (m<<M). When the car is at rest, the
speed of transverse waves in the string is
60 ms ~ L. When the car has acceleration a,
the wave-speed increases to 6(0.5 ms I The
value of a, in terms of gravitational
acceleration g, is closest to :

Options:
B
41652939690, 10
8
41652939691, 2
k8
20
41652939692,
8
41652939693,
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Options:
B
41652939690, 1V
g
41652939691, 2



2o

418529396592,

41E52339693, 30
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Three charges +Q, g, +Q are placed
respectively, at distance, 0, d/2and d from
the origin, on the x-axis. If the net force
experienced by +Q, placed at x=0, is zero,
then value of q is :

Options:

41652939694 T Q/4

41652939695, Q/4

41652939695, + /2

- 2
41E8529396897. Q/2
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Options:

41652939694, T Q/4

41652939695, Q/4

41652939696, + /2

- 9
4165259396397, Q/2
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For a uniformly charged ring of radius R,
the electric field on its axis has the largest
magnitude at a distance h from its centre.
Then value of his :

Options:

418529396395, R

4152929699, R‘*E
R
4152929700, \E

R
41552323701, 5
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Options:

415523923638, R

41650039699 RV2

R
4165259233700, \E

R
41552323701, "'I{E_’
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A parallel plate capacitor is made of two
square plates of side ‘a’, separated by a
distance d (d<<a). The lower triangular
portionis filled with a dielectric of dielectric
constant K, as shown in the figure.
Capacitance of this capacitor is :

i _r'ffI(;: ;,-'III i d‘
A
i-u a >
Options:
]. KE[J da
41652939702, 2 d
.2
Kepa "
09 InK
41652039703, O
Ke E 2
2d(K+1)
41652939704, :
2
Kena“ .
e
41652939705, 1K)
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Question Number : 17 Question Id : 41652910062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Drift speed of electrons, when 1.5 A of
current flows in a copper wire of cross
section 5 mm?, is v. If the electron density
in copper is 9 X 1028 /m? the value of v in
mm/'s is close to (Take charge of electron
tobe =16 x10~ 17 C)

Options:

41652939708, O

41652939707, 2
41652939708, 0-2

416529%90709, 0.02
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Options:

41852939706, 3

41652939707, 2

41652939708, V-2



4165299709, 0.02
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When the swilch 5, in the circuit shown, is
closed, then the value of current { will be :

WV B G o B 10N
A 20 ‘{i 40 B
f

= V=0
Options:
7
41652939710, 2A

41652939711, 2 A

4165259233712, 4A

416525823713, SA
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7
41652939710, 2

41652939711, 2 A



415523337 1%2. 1A

418529397135, SA
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A current loop, having two circular arcs
joined by two radial lines is shown in the
figure. It carries a current of 10 A. The
magnetic field at point O will be close to:

2
f,‘;}_
FB NP
&' ¥ o
Y
P EY
*I,’ '.I'd
_ A R 5
Saj T AR
[ AR &
&/ .00
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S I
i=10 A
Options:

5
41652930714, 12 X107 T

7
41652930715, 12 X107 T
41652939716, LOX107° T

41652030717, LOX1077 T
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41652930714, 1:9%x107° T

7
41652939715, 1o X107° T
41652939716, 101072 T

41650939717 101077 T
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Aninfinitely long current carrying wire and
a small current carrying loop are in the
plane of the paper as shown. The radius of
the loop is a and distance of its centre from
the wire is d (d>>a). If the loop applies a
force F on the wire then :

Options:
41652939718, F=0



F AR, |
F 1 i |
41652939719, \d/

41652839720,

416525939721, ;
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41652939718, F=0

oo ™
41652939719, \d/

41652823720,

41852939721, i
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Correct Marks: 4 Wrong Marks: 1



A bar magnet is demagnetized by inserting
it inside a solenoid of length 0.2 m, 100
turns, and carrying a current of 5.2 A. The
coercivity of the bar magnet is :

Options:

41652939722, 1200 A/m

41652939723, 020 A/m
41652939724, 280 A/m

41652930725, 2000 A/m

Question Number : 21 Question Id : 41652910066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
UF TS THEF B 0.2 H. = a4 100 w
AT Uk qHATTH & 3TaL TaaH aaraiad
F T | IfETTeTH H 5.2 A 9T yaifed & @
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Options:

41652039722, 1200 A/m

41652939723, 020 A/m
41652939724, 280 A/m

41652939725, 2000 A/m

Question Number : 22 Question Id : 41652910067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A conducting circular loop made of a thin
wire, has area 3.5 % 10~ m” and resistance
10 £2. It is placed perpendicular to a time
dependent magnetic field
B(t)=(04T)sin(507t). The field is uniform
in space. Then the net charge flowing
through the loop during t=0 s and
t=10 ms is close to :

Options:
41652939726, 6 mC

41652939727, / MC



41652939728, 14 mC

41652039729, 21 MC

Question Number : 22 Question Id : 41652910067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

UF Tael Icid a J 99 §¢ FAEE 919 H
EFE 3.5 10 3 m2 a1 Wil 10 Q &1 5H
T e T A, 9w W AR
g TFEHH €, B(t)= (0.4T)sin(50wt) H T
T E| FHFt=0s T t=10 ms T T H =2
9Tl 2 ATEY F 7 2

Options:

41652939726, 6 mC

41652939727, ¢ MC
41652939728

41852939723

Question Number : 23 Question Id : 41652910068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A plane electromagnetic wave of frequency
50 MHz travels in free space along the

positive x-direction. At a particular point

in space and time, £ = 6.3 ; V/m. The

—3

corresponding magnetic field B, at that
point will be:

Options:

: =
41652039730, 03 X 10 © kT

-8 M

21x10 " kT

41552939731,

A
189 x 10® kT
4152929722,



-8 o
4185293973535, 152710 kT

Question Number : 23 Question Id : 41652910068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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3 50 MHz &1 #9aa Ta2a Tra&/™ @
TR x faen i faen &, g e | W @
21 oW § v fAfva o 9w fag w

—- A i " s
E =63] V/m¥ | o 9% 7 & &3

% ¥
B Brm:
Options:
o

- 8
41652939730, 03 %10 © kT

Fay
21x10°% kT
4152939721,

A
189 x 10% kT
41652939732,

-8 o
4185293973535, 152710 kT
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Correct Marks: 4 WrongMarks: 1

A convex lens is put 10 cm from a light
source and it makes a sharp image on a
screen, kept 10 cm from the lens. Now a
glass block (refractive index 1.5) of 1.5 cm
thickness is placed in contact with the light
source. To get the sharp image again, the
screen is shifted by a distance d. Then d
is :

Options:
41652959734, 0

41652939735, 0.55 cm towards the lens

41652939736, (.55 cm away from the lens

41652939737 1.1 cm away from the lens
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Options:

41552839734, §

41652939735, 0.55 cm TH = T

llcm@HdH 2L
41652939737,
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Two coherent sources produce waves of
different intensities which interfere. Alflter
interference, the ratio of the maximum
intensity to the minimum intensity is 16.
The intensity of the waves are in the ratio :
Options:
41652939738, 411

41652939739, 1619

41652939740, 229

41650939741 2O

Question Number : 25 Question Id : 41652910070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Options:

416525823738,

41652939739, 1619

41652939740, 209

41650939741 2 0

Question Number : 26 Question Id : 41652910071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Consider a tank made of glass(refractive
index 1.5) with a thick bottom. It is filled
with a liquid of refractive index p. A
student finds that, irrespective of what the
incident angle 1 (see figure) is for a beam of
light entering the liquid, the light reflected
from the liquid glass interface is never
completely polarized. For this to happen,
the minimum value of uis :

Options:

| W

416525929742,

e

=

1

4165259239743,

e

416525939744, 7

- '
L | U]

41852939745,
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Options:

| W

416525939742,

S

(=

4155259239743,

1

e

416525939744, 7
2
3
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41852939745,

Surface of certain metal is first illuminated
with light of wavelength Ay =350 nm and
then, by light of wavelength A, =540 nm.
It is found that the maximum speed of the
photo electrons in the two cases differ by a
factor of 2. The work function of the metal
(in eV) is close to :

1240

—_—eV }
Alin nm)

(Energy of photon =
Options:

41652939746, 1.8



41652939747, 96

41652930748, 14

25
41552839749,
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e H]ﬂ%ﬁ‘{'ﬂf[ q%e"?fhl=350 nm AETGEA
F WY 3 R\, = 540 nm TS F T
W, Y9 F90 T | TEH Seafeid wEseEH
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1240
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Options:

41652939746, 1.8

41652939747, 2.0

41652939748, 14

4165259239749,
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Correct Marks: 4 WrongMarks: 1

A sample of radioactive material A, thathas
an activity of 10 mCi(1 Ci=3.7x 1010
decays/s), has twice the number of nuclei
as another sample of a different radioactive
material B which has an activity of 20 mCi.
The correct choices for half-lives of A and
B would then be respectively :

Options:

41652939750, 20 days and 10 days

b ; i
41650939751 20 daysand 5 days

41652939752 5 days and 10 days



41652935753, 10 days and 40 days

Question Number : 28 Question Id : 41652910073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Tearmt wwd A & UF T I gieEad
10 mCi(1 Ci=3.7x 1010 decays/s) ¥ TH
A | AMF] T W g5 TediyH 9erd B
F A F AF F OGS F T T T
HH?I%TH&EQHTED mCi &1 A 3 B =, H9:,
A F A H -1 FYT AT &7
Options:

41652939750, 20 767 T 10 &7

41650930751 20 TeT wE 5 a9

41652939752, O 11 G 10 feT

416525939753, 10 157 T 40 e
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Correct Marks: 4 WrongMarks: 1

Mobility of electrons in a semiconductor is
defined as the ratio of their drift velocity to
the applied electric field. If, for an n-type
semiconductor, the density of electrons is
10" m ~3 and their mobility is 1.6 m?/(V.s)
then the resistivity of the semiconductor
(since it is an n-type semiconductor
contribution of holes is ignored) is close
to:

Options:

41652939754, 0-2 {lm

41652939755, 2{m

41652939756, 4{dm

41652939757, 04 {im
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Options:

41652839754, 0-2 {dm

41652939755, 2{m

41652939756, 4 {dm

41650939757 04 (m
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Single Line Question Option : No Option Orientation : Vertical
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A resistance is shown in the figure. Its
value and tolerance are given respectively

h}-‘:
RED ORANGE
-'"\.H"'n o) ‘.{- v ™,
—Lrwn NN —

LS S ) &
+ K
VIOLET SILVER
Options:

41652823758, 270142, 5 %

41652939750, 2/ K, 10 %

41652939760, 2/ KL, 20 %

Lo 8 D'
41652039761, 2/0€, 10 %
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o yfady &1 o § q9ifa T # ) sHe "
YT Tl A9, 2

Options:

i i
41652939758, 27045 %

L ) D'
41652939750, 2/ K, 10 %

41650039760, 2/ KL, 20%

2704, 10 %

41652939761,
Chermistry
Section Id : 416529158
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 30
Number of Questionsto be attempted: 30
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 416529167
Question Shuffling Allowed : Yes
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Major product of the following reaction is :

Cl

l .1 = 4 - -
._-d HN NHz (1) BN
* |

g O (2) Free radical
polymerisation

Options:



B e - JL__ NHE
D;"’ N -
41652939762, H
{._ Cl}
o
41652939763, O
[Cl 0 }
L
HN._ A
- NH,
41652939764,
o. _cl
— S h
HN"‘&_ .
NHE
41652939765, o
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a
S i UL :
0 0 (2) g7 He7s agereb
Options:
1]
AP L N,
41652939762

416525933763,



NH,
41652939764.
0._Cl
!
" s n
HN.
T NH,
41652939765, O

Question Number : 32 Question Id : 41652910077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

The increasing order of pKa of the
following amino acids in aqueous solution
15

Gly Asp Lys Arg
Options:
41652939766, Gy < Asp < Arg <Lys

< (2w < e
41650939767, (5P <Gly <Lys < Arg

< < ro
41650939765, I8 < Lys <Gly < Asp

41652939769, AP < Gly < Arg < Lys

Question Number : 32 Question Id : 41652910077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Wit e 4 fFrefafad THH s & pKa
1 G FH C :

Gly Asp Lys Arg
Options:
41652939766, OV < Asp < Arg < Lys

E i 7 rg <
41650039767, (\SP < Gly <Lys < Arg

< < ro
41650939765, I8 < Lys <Gly < Asp

41652939769, 1SP < Gly < Arg < Lys



Question Number : 33 Question Id : 41652910078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
Arrange the following amines in the
decreasing order of basicity :

H
1 11 111
Options:

41652939770, LI =>11>1

41652939771, > 1>1I

416520930772, 1> 1> 1I

41652939773, 1> 1> 1

Question Number : 33 Question Id : 41652910078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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ARl o 924 A § 9 UHEA T ST
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=N | qu

H H

| 11 I1I
Options:

41652939770, LI >11>1

41652939771, > 1>1I

416520930772, 1> 1> 1I

41652939773, 1> 1> 1

Question Number : 34 Question Id : 41652910079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The major product of following reaction
is :

(1) AIH(i-Bu),

R—C=N » 7
(2) H,O
Options:
41652934774, RCHLNH,

41652939775, RCONH,
41652930776, RCOOH

41652930777, RCHO

Question Number : 34 Question Id : 41652910079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

Frefafaa sfufrn =1 g s &
(1) AIH(i-Bu),
>

R—C=N
(2) H,O
Options:

41652939774, RCH,NH,

416525933775, RCONH,

41652939776, RCOOH

416520930777, RCHO

Question Number : 35 Question Id : 41652910080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct decreasing order for acid
strength is :

Options:
NO,CH,COOH > NCCH,COOH >
41652939778, FCH,COOH > CICH,COOH

CNCH,COOH > O,NCH,COOH >

41850939779 FCH,COOH > ACH,COOH



NO,CH,COOH > FCH,COOH >

SeasEgy CNCH,COOH > CICH,COOH

FCH,COOH > NCCH,COOH =

s165pamgrg; NO;CH,COOH > CICH,COOH

Question Number : 35 Question Id : 41652910080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
7t T & U B TR #H ©

Options:
NO,CH,COOH > NCCH,COOH >
41652939778, FCH,COOH > CICH,COOH

CNCH ,COOH > O,NCH,COOH >

418520939779, TCH,COOH > ACH,COOH

NO,CH,COOH > FCH,COOH >

SeasEgy CNCH,COOH > CICH,COOH

FCH,COOH > NCCH,COOH =

s165pamgrg; NO;CH,COOH > CICH,COOH

Question Number : 36 Question Id : 41652910081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The compounds A and B in the following
reachion are, respr:-ctivel}f $

»B

["’f” HCHO+HCl |, AgCN

-
Options:

A =Benzyl alcohol, B= Benzyl
41652939782 1socyanide

A =DBenzyl chloride, B=Benzyl
41652939783, 1s0cyanide

A= Benzyl chloride, B= Benzyl
41652939784, Cyanide

A= Benzyl alcohol, B= Benzyl

4165003978z, O anide
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Trefafaa sfufFa § ifT+ A 991 B #9w:
£

e

B

'-\.':-\.._\_\_: - o

Options:
A=df-F@ texiew, B=df=a

41652939752, SNLHNETES

A=d3f=9a ==IIsE, B=df==

=

HACHEEAGS
41652939783,
Aesasay = ArICTNRE, B~ b iSRS
41652939785, (2= Areidl GeHleld, B = (el HIEIES
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The major product of the following reaction

1S .
f (1) KOH (aqueous)
== Br :
i L7 @coym
. (3) H,S0, /A
Options:
- \\?:::;:[j

416529309786, DBr 7

41852939787,



e = \} :::D
07 X
41652939788
O e
.-\._‘\- :__ .-"__:"-\-..H_\_\_H.|H-
HO™ S
41652939789
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Frefarfan sifufma = 5= 39 ©

et

(1) KOH (aqueous)

L | (2) CrO5/H ;

e s | _
(3) H,50,/4
Options:
-~ TR 5
K:ﬁ“:'D
'_'.?"-u,_hx‘r.r'.
41652039786, Br 7
D-‘-‘_:?:-""fx.. ‘
.1~.~]\. _._.__ o H.]
41652939787, Br
- \}G

HO ™
41652939788,



41852939789,
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Correct Marks: 4 Wrong Marks: 1

Which amongst the following is the
strongest acid ?

Options:

416525939730, CHCL,

41650939791 CHBT3

4165259397392, CHI,

416525933793, CHC Nj3

Question Number : 38 Question Id : 41652910083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
e | | T ey S 7

Options:

416528233730, CHC}3

41652939791 CHIBI3

416528233732, CHI3

41552333733, CH{CNJ3

Question Number : 39 Question Id : 41652910084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



The correct match between Item-1 and

Item-1l is :
Item-1 Item-11
(drug) (test)
A Chloroxylenol P  Carbylamine
test
B Norethindrone Q Sodium
hydrogen-
carbonate
test

C Sulphapyridine R Ferric
chloride test

D Penicillin S Baver’s test
Options:
41652039794, AR ;BoP;C55;D-»Q

4165003979z A2Q;B-P;CH5;D-R

d1es293070s, QI CoR; DR

41652839797, AR B»5; CHP;D-Q
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HEl-1 991 11 & T Tl g ©

He-1 Te-11
( 3irafer ) ( it )
A FORmEfaaE P wifdeniEE
Lt
B ARUEAEH Q ey
REEER|
FTEZ T
C  HoRMgEH R  hitHh F@NES
e
D  ufmEfe S I qdum
Options:

41652939794 AR;BP;CH»5;D-»Q

41652939795, A ?Q;BoPCH5;DHR



41652939796, 2 *QBHS;CHP;DOR

41652939797, AR ;BH5; CHP;DHQ
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The major product of the following reaction
is :

‘| xh“‘“‘] (i) Br,

EE—

Options:

41652939798, ~F T~

]Er
o -

41652939799,

e e
41652939800, ~F
OFEt
[.-f.-"'-“-:?.:j-_:‘.._lm_d____.. = ,_J
41652939801, % T~
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frefafiaa i =1 91 seae 2
= ‘I:'E-r2
L J\ {11 ) EtOH
Options:
OEt
19

41652939798, ~F T~



Br
JJ
L“ = e

41852939799, ™

S OB
(Y )

- i
41652939800, FF T

OFEt

["‘-.F-.:E:::_...l,_.-f"-. W\_J

418502039801,

Question Number : 41 Question Id : 41652910086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In general, the properties that decrease and
increase down a group in the periodic table,
respectively, are :

Options:
41652939502 electronegativity and atomic radius.

electronegativity and electron gain

41652939z03, enthalpy.

41650939504 Atomic radius and electronegativity.

electron gain enthalpy and

41652939505, Clectronegativity.
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Options:

41652039500, A~ RUIHE 4T TTAIY] T
41652939803, Fered-sRomTeshal Aol et wife Udedt

diEssysapgy oL el SR SNl



41652939805, T FAfe e BRINEEEEAIEED
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The ore that contains both iron and copper
15

Options:

41652929806, malachite

41652939507, azurite

41652939505, dolomite

copper pvrites
415529395809, PPEPY
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AT 91 IR <HE g o § sufteq
Elg%:
Options:

416525933806, ISTehTE

41652939807, (Re

41552323808, E

4155259238049, U1
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Correct Marks: 4 Wrong Marks: 1
The isotopes of hydrogen are :
Options:

41652939510, Protium and deuterium only

416529309511 Lritium and protium only

4165293495812 Proium, deuterium and triium

41652339813, Deuterium and triium only
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Correct Marks: 4 Wrong Marks: 1
TEEISH & THEfTE ©
Options:

4165293810, TETH T YR A

Zefeam gu wifeay 9=

415523929811, ~

41652939812, 7 fezm, S2IEm 9 2sfeaq

41652939813, =3 | den 2EfeaH 19

Question Number : 44 Question Id : 41652910089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The alkaline earth metal nitrate that does
not crystallise with water molecules, is :

Options:

41652939814, MB(NOs)

41652939515, “alNO3),

41652939816, OT(NO3)

Ba(NO,),
41652939817, =y

Question Number : 44 Question Id : 41652910089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ARIE Ha1 91q Aeee 9w 9 & A &
Ty foeeie T8 A €, J T

Options:

1652039814, MBINO;)

41652939515, CalNO3),

41650930816 Sf(NO3)

Ba(NO;),
41652939517, oy



Question Number : 45 Question Id : 41652910090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The one that is extensively used as a
piezoelectric material is :

Options:

41652939818, qUartz

41652939519, Tidymite

41652939820, THCd

41652939801, amorphous silica

Question Number : 45 Question Id : 41652910090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
<re-fargd Tere =i o fawiol S9Em | s
AT AT €

Options:

41652939818, TN

4155259233815, STe SRR

41852939820, "R

41852939821, et fafe

Question Number : 46 Question Id : 41652910091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Aluminium is usually found in +3
oxidation state. Incontrast, thallium exists
in +1and + 3 oxidation states. This is due
o:

Options:

41650929807 lanthanoid contraction

diagonal relationship
41552939823,

41652929824 lattice effect

RS inert pair effect



Question Number : 46 Question Id : 41652910091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TR IR T + 3 AT Sael |
T ST | 9 faudid, dferas + 1 991 +3
ST eIl H A S | SHE IR e

Options:
41650930500 CHAAAE LA

41650039803, 1AFT HAH

41652039824 C1Ed T9HE

41652039825, I H

Question Number : 47 Question Id : 41652910092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Correct statements amonga to d regarding
silicones are :

(a) They are polymers with hydrophobic
character.
(b)  They are biocompatible.

(c) In general, they have high thermal
stability and low dielectric strength.

(d) Usually, they are resistant to
oxidation and used as greases.

Options:
41652939826 (@) (b) and (c) only

41652930527 @) (B), (¢) and (d)
41652939825, (@) and (b) only

41650939529 (@), (b) and (d) only

Question Number : 47 Question Id : 41652910092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



e

(a) & TEeE TA-TaEn U F 2 E

(b) ST SIEETIGET Bl & |

(c) YR, SHH1 3= T &= a0
fet el A 2 2

(d) HEEE, 3 SR giEe 2§
A WS T T STEM H A 9 2

Options:

41650930826, T (), (b) T (c)

41652939527 @) (b). () T4 (d)

41652939828, 7o (a) T4 (b)

41652939829, o0 (a), (b) T (d)

Question Number : 48 Question Id : 41652910093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The highest value of the calculated spin-
only magnetic moment (in BM) among all
the transition metal complexes is :

Options:

415525933820, 592

418529395851, 4.90

41652939332, 0.93

41652939833, 05/

Question Number : 48 Question Id : 41652910093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

|/l HFHU 9 HFdl § HAMGF T
W | Geehtd 3 (BM H) ¥
Options:

416525923820, 592

41652939831, +90



41652939332, 0.93

41652939833, 057

Question Number : 49 Question Id : 41652910094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Two complexes [Cr(H,0),]Cl; (A) and
[Cr(NH;)4]Cly (B) are violet and yellow
coloured, respectively. The incorrect
statement regarding them is:

Options:
both are paramagnetic with three
41852939834 unpaired electrons.

A, value for (A) is less than that
41652939835, ©of (B).

both absorb energies corresponding
41650939536, 1O their complementary colors.

Ay values of (A) and (B) are calculated
from the energies of violetand yellow

41652939837 light, respectively.

Question Number : 49 Question Id : 41652910094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
3 HFA [Cr(H,0)]Cl, (A) d
[Cr(NH,)]Cl, (B) 991: =T e die1 1 %
F| T a9 H o FYA 2
Options:

S w1\ wgfEg s F Wy
41652939834, 330 12

(A) & foU A, =1 5F (B) 1 g A
41652939835, FH T

SHl AT TE T F ATHA Holl H

418529395856, A %l



(A) T1 (B) A, T 1 TRHe AT
ST TYT UTel Y9 FH FHHA F gRI
41652930837, (4 A2 |

Question Number : 50 Question Id : 41652910095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A water sample has ppm level
concentration of the following metals :
Fe=02:Mn=50:Cu=3.0;7Zn=5.0. The
metal that makes the water sample
unsuitable for drinking is :

Options:
41652939538, Te

41652939839, Mn

41652939840, CU

41652939841, N

Question Number : 50 Question Id : 41652910095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T I & Ulas9l ¥ fA=fatad ﬂﬁﬁ%ppn‘u
Hrsdl 1 TR :
Fe=02;Mn=5.0;Cu=3.0; Zn=5.0.

e

Options:

41652939838, Fe

41652939839, Mn

415523235840,

41652939841, N

Question Number : 51 Question Id : 41652910096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A solution of sodium sulfate contains 92 g
of Na* ions per kilogram of water. The
molality of Na* ions in that solution in
mol kg~ lis:



Options:
41652959842, 4

41652939543, O
41652939844, 14

41652939545, 10

Question Number : 51 Question Id : 41652910096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HifegH Hehe & U Taeaq | 9iq e
A H92g Nat A €1 Nat o739 =i 39
e | Hremterel (mol kg~ 1H ) 21
Options:

41652939842, 4

41652939843, O

415525939844, 12

41652939545, 10

Question Number : 52 Question Id : 41652910097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

0.5 moles of gas A and x moles of gas B exert
a pressure of 200 Pa in a container of
volume 10 m? at 1000 K. GivenR is the gas
constantin JK ™" !'mol 1, x is :

Options:
4 —-R

41852939546, 2R

41652939847, 2R

416525923848,

416520930549, 4 +R



Question Number : 52 Question Id : 41652910097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
1000 K 9% 10 m® 37™@@ & U& 915 3 0.5 mol
9 A 991 x mol 719 B, 200 Pa =1 3/ 914 & |
Hﬁﬂﬁﬂﬁﬂm&’?(]l{ Imol -1 H) B dix 3
Options:

4 —R

41552939846, 2R

41652939847, 2R

4165259239848,

41652030549, 4+ +R

Question Number : 53 Question Id : 41652910098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For emission line of atomic hydrogen from

n, =8 to n;=n, the plot of wave number '(F]

RS

1
against {_2| will be (The Rydberg
wnooS

constant, Ry, is in wave number unit)

Options:
RS GEERE Linear with intercept — Ry
41659639851 Linear with slope RH

41652039552, Non linear

Linear with slope RH
41 eE2a39852,

Question Number : 53 Question Id : 41652910098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



T G S ?Wn]: 84 ne=n T i S

= 1 ™y " h r—
?ﬂ?ﬁ'%f@ln_z % fawg @ e (v) =

e B, (e fowes, Ry @ 9@ &

HEE )

Options:

41652939850, Ry TGS & HE T
41650930851 Ry T 6 W e

41652039850, SNIEH

41652939853, Tyy W5 e

Question Number : 54 Question Id : 41652910099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

According to molecular orbital theory,
which of the following is true with respect
toLi,* and Li,~ ?

Options:

41652939854 Doth are unstable

Li, * is stable and Li, ~ is unstable
41652939555, < *

41650939556 Lip - is unstable and Li, = is stable

41652939857, Both are stable

Question Number : 54 Question Id : 41652910099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Ao ek faET o SFT9R Li, © 941 Li,
& gay ¥ fAafafas 5 9 fR a3 27
Options:

41652939554, S FEAF €

‘o T3 : : T
Aleso959gss, Lip* TFR € A Li,~ el @

s La] - L
41650030556, b2 T © q Liy TR



41852939857, %

Question Number : 55 Question Id : 41652910100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Consider the reversible isothermal
expansion of an ideal gas in a closed system
at two different temperatures T, and T,
(T, <T,). The correct graphical depiction
of the dependence of work done (w) on the
final volume (V) is :

Options:
w T
VA A
.-"j .-""-'.-'
o
T
41652939558, In'V
W T
/- I,
41652939559, InV
[w] f-Tz
/ = ! 1
/.-"
i
41652939560, In'V
W ;-TQ
' T
# 5
r_;" L 1
#:_;rff;'»*"
41652939361, InV

Question Number : 55 Question Id : 41652910100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



1 @ amdi T, 991 T, (T, < T,) W U =<
fr#m ¥ uF A=Y W F SeRaviE geard
TR X faEn it 7 & w9 (w) F
FHfm s (V) | A = 9@ sertas

faam 2 ;
Options:
[wi P
.l"f
VA |
.-"f _.-""-'.-l
L
D ¥
41652939858, In'V
W T,
b
/ -
/ T
S _.--""-'.
flia
QO
41652939859, InV
[w /"'Tz
/T
T
o=
')
41652939860, In'V
W J,-TQ
/
rf_.-"r 3 #f'T]_
f;‘if"'
41652939561, InV

Question Number : 56 Question Id : 41652910101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which one of the following statements

regarding Henry’s law is not correct ?

Options:
The partial pressure of the gas in
vapour phase is proportional to the
mole fraction of the gas in the

41652939362, solution.



Different gases have different Ky
(Henry’s law constant) values at the

41652939563, Same lemperature.

Higher the value of Ky at a given
pressure, higher is the solubility of
41650939864, the gas in the liquids.

The value of Ky increases with
increase of temperature and Ky is

function of the nature of the gas
4152929885,

Question Number : 56 Question Id : 41652910101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T 9w & Hey § Feafatgg s 5 9
i 1 UF Hel qdl 27
Options:
5] TS H T 1 A = oo
41852939862, T % Hend F T ! it 8l 2

wF & a9 W, faftm T oF K, (T
41652939363, 1A i) it 3 2

% 24 T TE W, 59§ 719 1 faeEa

41652939864, Al T T Ky, A fF 2 2 |

Ky, &1 9 19 & =g T =gdl ¢ 741
K,, T % Wfd 1 Fed 2

416525939865,

Question Number : 57 Question Id : 41652910102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
20 mL 0f 0.1 M H,50, solution is added to
30 mL of 0.2 M NH,OH solution. The pH
of the resultant mixture is : [pk, of
NH,OH=4.7].

Options:

41552939866, 5.0

416525933867, 5.2

41652939868, 90



41652939869, 24

Question Number : 57 Question Id : 41652910102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
20 mL 0.1 M H,S0, ¥ a&@d =l 30 mL

0.2 M NH OH % faerg # faet o qrd fagm
FpHFAFE: [NH,OH 1 pk,=47].
Options:

4155259233866, 50

41852939867, 5.2

41652939388, 90

41652939869, 94

Question Number : 58 Question Id : 41652910103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The anodic half-cell of lead-acid battery is
recharged using electricity of (.05 Faraday.
The amount of PbSO, electrolyzed in g
during the process is : (Molar mass of

PbSO, =303 g mol 3
Options:

416525933870, 15.2

41652939871, /-0

416525839872, <=

416525939873, 114

Question Number : 58 Question Id : 41652910103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T WS- G2 F TAE] AF-TA F
0.05 T2 Toe@ &1 3T 9 I SAaie
T =T € | 59 WA H fagd ATEfed PhsO,
FT1 AN (g §) % : (PbSO, &1 Hiew
A =303 g mol 1)

Options:



41552333870,

41652939871, /-0

41652833872, ==

41652939573, 114

Question Number : 59 Question Id : 41652910104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The following results were obtained during
kinetic studies of the reaction :

2A + B Products

T T [A] |B] Initial Rate of reaction
ERpecime) (in mol f._]} finmal L= Y| {in mol L=l min— 1
1 0.10 0.20 6,93 103
1] 0.10 0.25 6.93 %103
1t 0.20 0.30 1386 %102
The time (in minutes) required to consume
half of A is:
Options:
415529395874, 1
41652939875, 5

41652939576, 100

41852939877, 10

Question Number : 59 Question Id : 41652910104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Tr=rferfad aftoms 9 2u
2A 4+ B»>3TIR
[A] [B] s FfEm s
sttt (mol L=1 &)|(mel L=1&) | (molL—] min— ! )
I 0.10 0.20 693 %107
il 0.10 0.25 6.93 %1077
il 0.20 0.30 1386 %102

A T TY 97 &1 HHTE F34 F &0 6T
oag (fa=z §) 2 .
Options:



416525933874,
415523923875,

41652930875, 100

416525933877, 10

Question Number : 60 Question Id : 41652910105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Adsorption of a gas follows Freundlich
adsorption isotherm. Inthe given plot, x is
the mass of the gas adsorbed on mass m of
2
the adsorbent at pressure p. & is

proportional to:

&

g S
Log miE 4 unit

L

Options:

4165259233878, P

41E525933879. E

41552323880, P

1 #
416525923881,

Question Number : 60 Question Id : 41652910105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



HHATY =56 1 STE A ¢ | el T e
p 3@ W AIEE % m FHHA T HI9IT

T 1 = A m 2| % THAIIGF © :

A
x |12 unit
Log — | — =
I—1'.“_Ib‘r P »
OptiOns:
1
pé %_:
41652939878,
p2@
41E52939879,
P
41652939850,

41652939881, F *
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Question Number : 61 Question Id : 41652910106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



1
For xeR —{0, 1}, let f1(x) = Ifz{l:] =1—-x

| 1
and fi(x)= S be three given
functions. If a function, J(x) satisfies
(£57J°f4) (x) = f5(x) then J(x) is equal to :
Options:
41652939882, /19

%)

416525939883,

S

415523923854,

1
— fa(x)
41652939885, £

Question Number : 61 Question Id : 41652910106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

xeR—{0, 1} & ToQ, 99 wem fi(x) = =

i
) =1-x T fylx) = —— o2 A &)
A T T (x), (E77°F;) (x) = £5(x) F1 G
A1 8, T J(x) T2

Options:

41652939382, 1110

f(x)

41E8529398835.

J3x)

4165259233854,

&
— fa(x)
41652939885, &

Question Number : 62 Question Id : 41652910107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A ee———————= 15

|r T \ 3+ 2isind
X 2 4 1 21 sinf)

Let A= c'li] £
L

purely imaginary [. Then the sum of the

elements in A is:

Options:
41652939886,
21
41652939887
3

41652939838, 4

o

41852939859,

Question Number : 62 Question Id : 41652910107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T ] 3 + 21 sinf
T e

2

i

HHAT A= {1]5[

|\ ) 1 — 2isinf

FIOEF S {, WA F 998 FTATE :

Options:
41652939886,
21
41652939887,
3

41652939838, 4

o

41E525933889.

Question Number : 63 Question Id : 41652910108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let « and 5 be two roots of the equation
x2+2x+2=0, then o!® + p1% is equal to:

Options:



41652939890, 2060

e
41852939891, 256

41652930892, 012

41652939893, — 212

Question Number : 63 Question Id : 41652910108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AfG o T B FHE 224 2y +2=0 F 2 JA
T WalS+ TR T

Options:

41652939890, 256

e
41852939891, 256

41652930892, 012

41652939893, — 212

Question Number : 64 Question Id : 41652910109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

cosi sint _
It A= , then the matrix
sinth cosb

.A 50 when 0 = Ei’isequaltO:
Options:
B s
2 i3
138
41652939894 = £
$Bo1
2 2
1 3
d .

415523933835,



1 43

4 3

31
4152929596, 2 2_
1 45

0 2

\.ﬁ 1

2 2
416529398497, = =

Question Number : 64 Question Id : 41652910109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

cosh sinb | . -
qfg A = [ ],aTaﬂqu A-50 5=

sinfl  cosf

0 =-I§rEﬂFE{%:
Options:
31
2 2
13
I 2
41652939894,
B o1
2 2
1 \.'E
P T
41652939595, - < <
1 43
4 3
31
41652939896, 2 2,
1_4
2 2
B
2 i
41652939897, - < <-
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The system of linear equations

x+yt+tz=2
2x+3y+2z=5
2x +3y (a2-1z=a+1
Options:
41652939898, is inconsistent when |al=+3

41652939899 has infinitely many solutions fora=4

41652939500, 15 inconsistent whena=4

165093990, Dasa unique solution for fa =3

Question Number : 65 Question Id : 41652910110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

s gHiET e

x4 y =L

2x +3y+2z=5

2x +3y+(a2—1)z=a+1
Options:
41652939898, H & Jaf =3

41652039890 Pa=4 % fau 7 @ .
41652939900, 004 Toda=4

Ales0a3g901, 1A=V ® Y A UF & ¢ |

Question Number : 66 Question Id : 41652910111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Consider a class of 5 girls and 7 boys. The
number of different teams consisting of 2
girls and 3 boys that can be formed from
this class, if there are two specific boys
A and B, who refuse to be the members of
the same team, is :

Options:

41652939902, 200



41552333303, 300

41552323304, 350

41652939305, 200

Question Number : 66 Question Id : 41652910111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
5 TSRl 91 7 @S] i Ush &l Fl faan
TS0 | 59 el Tl 2 TSl a1 3 TS| &l
oL 99 FHA drell 799 21 (teams), S &1
9™ A= A T B U &1 211 & He 991 9
T %, FT T SE»' .
Options:

41852939902, 200

418529399035, 300

41852939904, 350

41652939005, 200

Question Number : 67 Question Id : 41652910112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
241}3

15

[f the fractional part of the number is

— , then k is equal to :
15 “

Options:
41652939306, 2

41652939907,
41852939008, 14

41652939309, O
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Correct Marks: 4 Wrong Marks: 1



L. 40
Jfg & —— T 9= s 91 (fractional

15
B o
part) 5 T AKTRE:
Options:

41652939906, &

41652939907
41652939908, 14

41652939909, O

Question Number : 68 Question Id : 41652910113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
30
Leta,, ay, -....... ,agpbean AP, S= ) a;and

)

=1
15

T=> apgi-1). fa,—27andS— 2T =75,
=1

then a; is equal to:
Options:

41652939910, 42
416529393911, 47
41652939912, 97

41652939913, 92

Question Number : 68 Question Id : 41652910113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AT ay, 8y, cenne d39 TF THF 2T 2,

30 R
s=YaanT=2 2-1) ARa;=27

i=1 1=1

AAS - 2T =75, W ay, WAL :
Options:
41652939910, 42



41652039911, 47
41652939912, 97

41652939913, 02

Question Number : 69 Question Id : 41652910114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If a, b and ¢ be three distinct real numbers
inG.P.anda +b + c=xb, then x cannot be :

Options:

-2

41852939914,

41652939915, — 2

I~

4165259239916,

415523233917,

Question Number : 69 Question Id : 41652910114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ffz dF e arfas 9@ a, b 991 ¢ T
TW %ﬁgﬂma Fb c=xh,ﬁlxﬁlﬁiﬁ
T HE-H1 TE & FFHA 2

Options:
41652939914,

(=]

41652939915, — 2

I~

416525939916,

415523333917,

Question Number : 70 Question Id : 41652910115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T e
i

| 4 =
11 +y% -2
lim

y—0 y 4

Options:



RS SEaTE does not exist

1

exists and equals
41552939919, 2\.1'5

1
exists and equals ——
R el
4152929920,

1
exists and equals Eﬁ{ﬁ - 1)

4165259239921,

Question Number : 70 Question Id : 41652910115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
II I—

_ wl 41 I],.r‘1 2

lim

y—U Y

1 Edl

Options:

41650939915, ATE T ¥

1
Al 2 a9 F ATE 2|
41652939919, 242

s
AT TN — = % T B

4.2
41652939920.

i 1 :
Al g a0 NI

c4

416525939921,

Question Number : 71 Question Id : 41652910116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let f: R —» R be a function defined as

[ 5, if e |
_jalhxr if 1<x<3
IE) = pree o Fupes

[ 30, if x=5

Then, fis:
Options:



41650939900 continuousifa=—5and b=10
41652939903, continuous ifa=5andb=>5
41652939a24 COntinuous ifa=0and b=5

not continuous for any values of
41652939925 aandb

Question Number : 71 Question Id : 41652910116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AN HATf: R > R

( 5, Afe r=1
la+bx, I 1<x<3

X) =4 _
J) :11}5}[, qg 3 =x<5
| 30, ak x5
B qffia 2, 1 £
Options:
41652039922, T09 gafca=—57qAb=10.

416509309903, 90 € AGa=5TMb=5.

Al65005900, 0 € ARa=0FAMb=>5.

a daT b F f/dr o AF F v gad ==
41652939905, B!

Question Number : 72 Question Id : 41652910117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If 6 denotes the acute angle between the

o 3 .
curves, y=10—x" and y=2 +x~at a point
of their intersection, then [tan 0] is equal
to:

Options:
8

41852939926, 17



416524939927, 15

4
41652939928, 9

7
4165259233925, 17

Question Number : 72 Question Id : 41652910117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Al TR y=10 -2 Ty =2+2> F 9= TH
Ao fag W= 0 0 2, 91 tan 0] TR T :

Options:

415525939926,

416524939927, 15

MO | e

4165259239928,

7
4165259233925, 17

Question Number : 73 Question Id : 41652910118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The maximum volume (in cu.m) of the right
circular cone having slant height 3 mis:

Options:

41652939930,
41652939931,

4165259395932,

418529399355,



Question Number : 73 Question Id : 41652910118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

3 Hf. foada (slant) S=TE 9161 SagE Wi F
SAferhaR S (AL H) ¥

Options:

41652939930,
41652939931,

4165259395932,

418529399355,

Question Number : 74 Question Id : 41652910119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
For 2 # nw+1, neN (the set of natural
numbers), the integral

|
.[1' flzﬂm (x* 1)~ sin2(" — 1) dx is
\‘Esf_n {1‘2 1) + sin 2{_1'2 1) -

equal to :
(where ¢ is a constant of integration)

Options:

1 3
— logeisec(x™ — 1) + ¢
41652939934, 2

log . |sec

416525939935,

4155239239356,

41852939957,

Question Number : 74 Question Id : 41652910119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



224w+ 1, neN (W FE&2nsdi &1 T9=4),

J‘I stm (x* — 1) — sin 2(x* — 1) 5

2sin {xz 1) + sin 2{,1'2 1)

2
(=T ¢ UF THFEA 39 2)
Options:

1 2
— logeaisec(x™ — 1) + ¢
41652939934, 2

log . |sec

4165259239935,

log .

41852939956,

{3
lIu:Jr sec2 =2
2 OBe| 2

41652939937, a

Question Number : 75 Question Id : 41652910120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
= 3

The value of _[ |C':*51| dxis
0

Options:

=

416525939928,

SN

416525939929,

W | W

4165259239940,

W | e

416525829941,

Question Number : 75 Question Id : 41652910120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



= 3
_[ lcosx| dxmmam ¥ -
0

Options:

=

416525939928,

SN

416525939929,

W | W

4165259239940,

YT

416525829941,

Question Number : 76 Question Id : 41652910121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The area (in sq. units) bounded by the
parabola y=x“—1, the tangent at the
point (2, 3) to it and the y-axis is :

Options:

w|oe

416525929942,

415523239943, 3

56
3
4152929944,
32
4152939945

Question Number : 76 Question Id : 41652910121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T d y =x2 — 1, 30 Taod T foud o+ fag
(2, 3) T W= TS DI I a9l y- A9 H o &
Edl E%“iltﬁﬂ {EITIF Qaﬁ qﬁ‘[ -E[} %:

Options:

41852939942



415525823943,
415523933944,

4165259239945,

Question Number : 77 Question Id : 41652910122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If y =y(x) is the solution of the differential
dy

equation, T F 2y —3* satisfying

by |
\

| is equal to :
/

FJ | =

y(1)=1, then y[

Options:

e

4155259239946,

T~

41652939947,
13

41652939948, 16
49

41652930949, 16

Question Number : 77 Question Id : 41652910122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ﬂﬁyzy{x],aﬁﬁmx% 2y — x*

= n ‘-.. ./.1"'
FTeAEdy(l)=1FHge FA e, A Y| ?,J

T T
Options:

1
41652939946, 4



N
41652939347. 64
13

41652939945, 16

49
41652030949, 16

Question Number : 78 Question Id : 41652910123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Consider the set of all lines px+qy +r=0
such that 3p + 2q +4r=0. Which one of the
following statements is true ?

Options:
41652939950, Lhe lines are all parallel.

The lines are concurrent at the point
(3 19

41652039951, \+ 2J

41652939952 The lines are not concurrent.

41652939953, Each line passes through the origin.

Question Number : 78 Question Id : 41652910123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
ﬁﬂﬁ‘maﬁpxlqylr={]%wq
faaw Fifer fos e ap +2q +4r=07%,
=1 § ¥ FE-T UF Y Tl 7

Options:

41652939950, T4 @ FHIR £

i

- &ﬁgl

-3
— = | = E
41652939951, 2)

41652939950, AL W & ¥

41652939953, F T e fag | 2 F 9 8



Question Number : 79 Question Id : 41652910124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Equation of a common tangent to the circle,
24+ y?—6xr=0 and the parabola, y2=4_1:,

15 :
Options:
. = — 2
41652030954, <VIY =¥ — 12
2.3y =12x +1
41652939955,

41652939956, Y3y =3x +1

V31

T |
41652939957, VoY =X +:<

Question Number : 79 Question Id : 41652910124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A 22 + P — 6x =0 7T Teferd y> = 4x, Fl Th
YA BI9 a1 1 FHIE ¢

Options:

o
2 a = —y — ]
41652930954, <VOY =¥ — 12

2
41852939955,

41655939956, V3Y =3x +1

ﬁy=1‘+3

41852929957, "

Question Number : 80 Question Id : 41652910125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Three circles of radiia, b, c (a < b < ¢) touch
each other externally. If they have x-axis
as a common tangent, then:
Options:

41652933359, Va, Vb, Jc arein A.P.



e I
41652939960, va Wb Ve
T W
i ol ol
41652939961 Vb Ja A

Question Number : 80 Question Id : 41652910125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
a, b, ¢ (a < b < ¢) =T 91 1 99 WER
=R WY T ¢ | AfE -3 ST U 9IS

Options:
41652039955 & b, ¢ TH FHIGL Ael H 4
| b s THIG g H E |
41652939959, Va, b, Jc TF 1 2
b &
41652939960, Ja b e
Ao Ao A
41652939961 VP Va e

Question Number : 81 Question Id : 41652910126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Axis of a parabola lies along x-axis. If its
vertex and focus are at distances 2 and 4
respectively from the origin, on the positive
x-axis then which of the following points
does not lieon it ?

Options:

416525933962, @ —4)

4165293993, (0 TV2)

5, 26)

415525939964,

41552333965, 8.6)

Question Number : 81 Question Id : 41652910126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

T WA 1 A4, x-F4 F o few 21 Al
SHE TIY 91 A, x-3A% =l 970+ fown H
erfeg 9§ A 29914 F g WE, AT A
FA-1 foig =8 Waea W fred 798 27
Options:
41552939962, (4" 4}

42
41650930063, (0 1V2)

(5, 2V6)

4165259233964,

415525939965, 8.6)

Question Number : 82 Question Id : 41652910127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let 0<8 < ; If the eccentricity of the

2
i 1 is greater

2
x y

2 :
cos<i sin

hyperbola

than 2, then the length of its latus rectum
lies in the interval :

Options:

2

415525933966, K
25
416525933967, (3/2,2]

41652939068, (23]

41652935369, O *)

Question Number : 82 Question Id : 41652910127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
EIE {]ﬁ{irﬁ% 21 afe sfauraed

2 2
X ] =
- Y =1 Fsdamed afuw g,
cos 51 b
Al THE Aaed 1 @4 (99 oFa0a § 2, 98

T

Options:



2
4165259395966, ke

2.2
416525933967, (3/2,2

41652939968, (23]

41652935969, O *)

Question Number : 83 Question Id : 41652910128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The plane through the intersection of the
planes x+y+z=1 and 2x+3y—z+4=0
and parallel to y - axis also passes through
the point :

Options:

41552839970, (=30, -1)

416525939971, (-3,1,1)

2
416525939972, (3.2,1)

41852939975, (3,3, 1)

Question Number : 83 Question Id : 41652910128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

y-314 % THIR T4 TEAA x +y+z=1 3
2x+y—= +4 = (% Hideoed 4 SR oI Al
A A A fFa g A ia e am g2
Options:

41852939970, (=3.0, -1)

41852939971, (-3,11)

2
41B52839972. (3.2,1)

41852939973, 3,3, —1)

Question Number : 84 Question Id : 41652910129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



The equation of the line passing through
(-4, 3, 1), parallel to the plane
x+2y—z—-5=0 and intersecting the line

.J.'Il_yﬁ z—32

3 2 = 115:
Options:
xt+d y=3 -1
41652939974, 1 1 1
i‘lé_y 3_2 1
41652939975, 1 1 3
xlai_y?.-_z 1
41652939976, O 1 1
X 4_y|'¥_z|1
416524939977, 2 1 4

Question Number : 84 Question Id : 41652910129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
fag(—4,3,1) ¥ 8 L oA =1e 31, 5§ gH9ae
X+2y-z-5=0% HHAW ¥ T4 W@

i y—3 z—2 "
3 =5 = g W e 2, &1
T E
Options:
x+4 y—-3 z-1
41652939974, 1 1 1
il%_y 3_2 1
41652939975, 1 1 3
xlé_y?.-_z 1
41652939376, 1 1
X 4_y|'¥_z|l
41652939977, 2 1 4

Question Number : 85 Question Id : 41652910130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



—3 A A

Let a=i-j, b=i+j+k and

— —» — —
be a vector such that a x ¢ + b = 0

2

—»

a5
and a - ¢ =4, then |C| isequal to:

Options:

o
|~~.1-|,‘,_1J

41652939978,
17
41652939979, 2

41552333950, ?

416525923951,

Question Number : 85 Question Id : 41652910130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

P

—»

AT a = i j,b=1i+j+k 79 ¢

e : oo —— — — —
g afewm @ fF axc + b =0 a4

2
—F

c| ELE

-+ =
a - C

—4 %@

Options:

41552333975,

416525823975,

o

4165259233980,

415525939981,

Question Number : 86 Question Id : 41652910131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



5 students of a class have an average height
150 cm and variance 18 cm®. A new
student, whose height is 156 c¢m, joined
them. The variance (in cm?) of the height
of these six students is :

Options:

41652939352, 20

41652939983, 16

415525939984, 18

41652930985, 22

Question Number : 86 Question Id : 41652910131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TF el F 5 faEntdal w1 Sawa & we
150 T H, 791 T 18 & WA ¥ 156 W,
FETE AT U A faenedt 39 o fgen ) T
farenferi =t S=msal 1 W& (=° 9. H)
¥

Options:

41652939982, 20

41652939953, 10

41652939984, 19

416525939955, R

Question Number : 87 Question Id : 41652910132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Two cards are drawn successively with
replacement from a well-shuffled deck of
52 cards. Let X denote the random variable
of number of aces obtained in the two
drawn cards. Then P(X=1)+ P(X=2)
equals :

Options:

41652939936, 24/169

41852939957, 25/169



41652939058, 49/169

41652939359, 22/169

Question Number : 87 Question Id : 41652910132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

52 U9 & Ueh =31 Wb H Wl TS W i
T H |, TF & 915 U, 31 T Ffasaro 9izd
el U g X, 3F1 98 H AT @ Hi
= &1 =9 aren agfed w1 €, ql
P(X=1)+ P(X=2) "= & :

Options:

41652939936, 24/169

41852939957, 25/169

41652939058, 49/169

41652939359, 02/169

Question Number : 88 Question Id : 41652910133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i
™ 1)

For any fe|—, —

) 1’2
3(sin0 — cosf)? + 6(sind + cosh)2 + 4sin®
equals :

, the expression

Options:
] e 2
41652939990, 13 —4 cos< + 6sin-0cos-H

; 2 .o il
41652939991 19 —4 cos“0 + 6 cos™0

41652939992 13 —4 cos¥ + 2sinfcos?

¥ [
41652939993, 10 —4 cos’H

Question Number : 88 Question Id : 41652910133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



4
3(sinf — cosB)? + 6(sinb + cos0)2 + 4sin®0
T E
Options:

) P | 2
416852939990, 19 —4 cos™ +6sin“tcos™H

; 2 |
41652939991 13 —4 cos“0 + 6 cos™6

41652939992 13 —4 cos¥ + 2sinficos?()

/ fs
41652939993 13 —4cos™0

Question Number : 89 Question Id : 41652910134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1 i 2 kY J_ i 4-5 A - i 1 '\n
If cos [— + cos {_ :_ll}_ ,
3x 4x 2 4

then x is equal to :

Options:
J145
41652939994, 12
V146

41652939995, 12

145

41652929995, 11

145
41652939aa7. 10

Question Number : 89 Question Id : 41652910134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

" "
1 1

cos l[%j + cos ll;—lj = % la}IJ ,
J.'W%:

Options:



V145

41652939994, 12

7]

14
41652939995, 12

145

41652939995, 11

J145
41652939a97. 10

Question Number : 90 Question Id : 41652910135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the Boolean expression

(p®EqQ ~ (~p = q) 1s equivalent to
p ~ q, where @, ¢ e{ », v}, then the
ordered pair '{:%EJ, ) is:

Options:

41650939398, 7 )
41652939999, V)

41852340000,

41652940001, (¥ )

Question Number : 90 Question Id : 41652910135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

afe 9 FTF (p @ q) A (~p © g,

PAQHETAE TS, © efn,v] & A
FAAgH (@, o) T

Options:

41650939998, 7 )

41652939999, )

{..J. Ry }

41852340000,



41652940001, 7 A)



